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A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Vocab Questions Overview

Vocab Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is similar
to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to elaborate
the concept used in Vocab Questions.

Question

Direction: The following question carries a sentence with a word marked in bold. The word has been incorrectly spelt.
Select the word from the options that can replace the emboldened word to make the sentence correct. Capitalism in its
modern form can be traced to the emergence of agrarian capitalism and mercantilism in the early Renaissance, in city-
states like Florence.

Difficulty : Moderate Average Time: 40 Seconds

Options :
1. Reniassance

2. Renaisance
3. Renaissance
4. Renaisance

5. Rinaissance

Solution

The correct answer is Renaissance.
The other options are incorrectly spelled.

The meaning of the word is: the revival of European art and literature under the influence of classical models in the
14th—16th centuries.

An example sentence: The Renaissance period withessed a massive growth in arts.
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